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LIRS 7 & 25 iR NE
1| =& M tUH 77-1 A P 1,258
2| =EHT EH tUk 78-1 i pAi 340
3| =#2HT M tUH 81-1 A psi 480
4| =FEHT EH tUk 82-1 i pAi 484
5 =#EHT M tok 119 A psi 900
6 | =FEHRT M X#H 212 i i 959
7| =FEHT JEH R#& 231 A P 1,114
8| =F@HT R K% 232 il il 1311
9| =FZ2HT JEH R#& 239-1 A P 834
10 | =FZHT p Ny b ek i 40 i P 37
11| =FEHT pNu| b % iR 42 A P 1,938




ALt #H mEHE(m)
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T ETA F Hh % 23 iR nE
12| =FEHT pNE] Hh % iR 51 i P 1,371
13| =F&HT p = Hh 8% B 210-1 X pi 829
14| =FEET X0 7% B 211-1 1H AH 1,423
15| =F2HT XA DR 22-1 pul i 2,176
16 | =FEET EH K% 211-1 1H AH 874
17| =FEHT M K& 2431 X pi 1,368
18| =F&HT EH X#H 244-1 i pil 1,258
19| =FEHT EH tUHk 79 bl P 577
20| =FEHT EH tvik 80 1H AH 848
21| =7EHT EH tUHk 100 bl P 841
22| =FEHT EH tvik 115-1 ! AH 467
23| =FEHT EH &4 T 104 H H 1,121
24| =FEHT EH 58T 110 M M 1317
25| =FEHT EH &4 T 113-6 H H 318




AR 732 #h B EE(m)
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BT F 1 % 2 B nE
26 | =FEHT R K7 64-1 ] il 862
27| =7EHT EH K& 67-1 A i 503
28| =FEHT R K7 66-1 ] il 744
29 | =FEHT EH EHE 7 b P 490
30 | =#EHT M E88E 8 i pi 1,781
31 | =FEHT EH R¥F 32 A P 645
32| =FEMT N Hh % iR 43 bl P 945
33| =FEHT pNu| b % iR 47 P pi 1,711
34| =FEHT pN=| 7 LR 37 il il 1,435
35| =#&EMT XA EapRiR 38 1 Pl 9,657
36 | =FEHT p Ny Eaf3iR 42 i b 6,053
37| =FEHT R PN 133-1 P pil 2,171
38| =FEHT =) EXIR 167 H H 5,732
39| =FEHT TE B2 84 H H 323




